



Fractional Hermite–Hadamard type inequalities for n -times log-convex functions

Nawel Ouanas^a, Badreddine Meftah^{b,*}, Meriem Merad^a

^aDépartement des Mathématiques, Faculté des mathématiques, de l'informatique et des sciences de la matière, Université 8 mai 1945 Guelma, Algeria

^bLaboratoire des télécommunications, Faculté des Sciences et de la Technologie, University of 8 May 1945 Guelma, P.O. Box 401, 24000 Guelma, Algeria

(Communicated by M. Eshaghi)

Abstract

In this paper, we establish some Hermite–Hadamard type inequalities for function whose n -th derivatives are logarithmically convex by using Riemann–Liouville integral operator.

Keywords: integral inequality; log-convex function; Hölder inequality; power mean inequality.

2010 MSC: Primary 26D15; Secondary 26D20, 26A51.

1. Introduction

One of the most well-known inequalities in mathematics for convex functions is the so called Hermite–Hadamard integral inequality

$$f\left(\frac{a+b}{2}\right) \leq \frac{1}{b-a} \int_a^b f(x) dx \leq \frac{f(a)+f(b)}{2}, \quad (1.1)$$

where f is a real convex function on the finite interval $[a, b]$. If the function f is concave, then (1.1) holds in the reverse direction (see [16]).

The Hermite–Hadamard inequality play an important role in nonlinear analysis and optimization. The above inequality has attracted many researchers, various generalizations, refinements, extensions

*Corresponding author

Email addresses: ouanasnawel@yahoo.fr (Nawel Ouanas), badrimeftah@yahoo.fr (Badreddine Meftah), mrاد.meriem@gmail.com (Meriem Merad)

and variants have appeared in the literature, one can mention [1, 2, 3, 4, 5, 6, 7, 8, 10, 11, 12, 13, 14, 15, 16, 17, 19, 20, 21] and references cited therein.

We first recall some definitions and lemmas.

Definition 1.1. (Pečarić et al. [18]) A positive function $f : I \rightarrow \mathbb{R}$ is said to be logarithmically convex, if $f(tx + (1 - t)y) \leq [f(x)]^t [f(y)]^{1-t}$ holds for all $x, y \in I$ and $t \in [0, 1]$.

Definition 1.2. (Kilbas et al. [9]) Let $f \in L_1[a, b]$. The Riemann–Liouville integrals $J_{a^+}^\alpha f$ and $J_{b^-}^\alpha f$ of order $\alpha > 0$ with $a \geq 0$ are defined by

$$J_{a^+}^\alpha f(x) = \frac{1}{\Gamma(\alpha)} \int_a^x (x - t)^{\alpha-1} f(t) dt \quad (x > a),$$

$$J_{b^-}^\alpha f(x) = \frac{1}{\Gamma(\alpha)} \int_x^b (t - x)^{\alpha-1} f(t) dt \quad (b > x),$$

respectively, where $\Gamma(\alpha) = \int_0^\infty e^{-t} t^{\alpha-1} dt$ is the Gamma function and $J_{a^+}^0 f(x) = J_{b^-}^0 f(x) = f(x)$.

Lemma 1.3. (Wang et al. [21]) For $\alpha > 0$ and $k > 0, z > 0$,

$$J(\alpha, k) = \int_0^1 (1 - t)^{\alpha-1} k^t dt = \sum_{i=1}^\infty \frac{(\ln k)^{i-1}}{(\alpha)_i} < \infty,$$

$$H(\alpha, k, z) = \int_0^z t^{\alpha-1} k^t dt = z^\alpha k^z \sum_{i=1}^\infty \frac{(-z \ln k)^{i-1}}{(\alpha)_i} < \infty,$$

where $(\alpha)_i = \prod_{j=0}^{i-1} (\alpha + j)$.

Lemma 1.4. (Wang and Qi [20]) Let $n \in \mathbb{N}$ and $\alpha > 0$, and let $f : [a, b] \subset \mathbb{R}_0 \rightarrow \mathbb{R}$ be an n -times differentiable function on (a, b) . If $f^{(n)} \in L([a, b])$, then we have

$$\begin{aligned} \frac{\Gamma(\alpha + n)}{2(b - a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) &= \sum_{k=0}^{n-1} \frac{\Gamma(\alpha + n)(b - a)^k}{2\Gamma(\alpha + k + 1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \\ &\quad - \frac{(b - a)^n}{2} \int_0^1 ((-1)^{n-1} (1 - t)^{\alpha+n-1} - t^{\alpha+n-1}) f^{(n)}(at + (1 - t)b) dt. \end{aligned} \tag{1.2}$$

The main purpose of this paper is to establishing a new Hermite–Hadamard type inequalities for functions whose n^{th} derivatives are logarithmically convex and via Riemann–Liouville integral operators.

2. Main results

Theorem 2.1. *let $f : [a, b] \subset \mathbb{R}_0 \rightarrow \mathbb{R}$ be an n -times differentiable function on $[a, b]$ where n is a positive integer such that $f^{(n)} \in L([a, b])$ with $f^{(n)}(b) \neq 0$. If $|f^{(n)}|$ is log-convex, then the following fractional inequality holds*

$$\left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \leq \begin{cases} \frac{(b-a)^n |f^{(n)}(b)|}{\alpha+n}, & n \text{ is even, } \lambda = 1 \\ \frac{(b-a)^n (2^{\alpha+n-1} - 1) |f^{(n)}(b)|}{(\alpha+n)2^{\alpha+n-1}}, & n \text{ is odd, } \lambda = 1 \\ \frac{(b-a)^n |f^{(n)}(b)|}{2} \left(\sum_{i=1}^{\infty} \frac{(\ln \lambda)^{i-1}}{(\alpha+n)_i} + \lambda \sum_{i=1}^{\infty} \frac{(-\ln \lambda)^{i-1}}{(\alpha+n)_i} \right), & n \text{ is even, } \lambda \neq 1 \\ \frac{(b-a)^n |f^{(n)}(b)|}{2} \left(\sum_{i=1}^{\infty} \frac{(\ln \lambda)^{i-1}}{(\alpha+n)_i} - \frac{\sqrt{\lambda}}{2^{\alpha+n}} \sum_{i=1}^{\infty} \frac{(\frac{1}{2} \ln \lambda)^{i-1}}{(\alpha+n)_i} - \sqrt{\lambda} \sum_{i=1}^{\infty} \frac{(-\ln \sqrt{\lambda})^{i-1}}{(\alpha+n)_i} + \lambda \sum_{i=1}^{\infty} \frac{(-\ln \lambda)^{i-1}}{(\alpha+n)_i} - \sqrt{\lambda} \sum_{i=1}^{\infty} \frac{(-\ln \sqrt{\lambda})^{i-1}}{(\alpha+n)_i} - \frac{\sqrt{\lambda}}{2^{\alpha+n}} \sum_{i=1}^{\infty} \frac{(\frac{1}{2} \ln \lambda)^{i-1}}{(\alpha+n)_i} \right), & n \text{ is odd, } \lambda \neq 1 \end{cases} \tag{2.1}$$

where

$$\lambda = \left| \frac{f^{(n)}(a)}{f^{(n)}(b)} \right|. \tag{2.2}$$

Proof . Using Lemma 1.4, and modulus, we have

$$\left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \leq \frac{(b-a)^n}{2} \int_0^1 |(-1)^{n-1} (1-t)^{\alpha+n-1} - t^{\alpha+n-1}| |f^{(n)}(at + (1-t)b)| dt. \tag{2.3}$$

Clearly

$$|(-1)^{n-1} (1-t)^{\alpha+n-1} - t^{\alpha+n-1}| = (1-t)^{\alpha+n-1} + t^{\alpha+n-1}, \tag{2.4}$$

if n is an even number and if n is an odd number, we have

$$|(-1)^{n-1} (1-t)^{\alpha+n-1} - t^{\alpha+n-1}| = \begin{cases} (1-t)^{\alpha+n-1} - t^{\alpha+n-1} & \text{if } 0 \leq t < \frac{1}{2} \\ t^{\alpha+n-1} - (1-t)^{\alpha+n-1} & \text{if } \frac{1}{2} \leq t \leq 1. \end{cases} \tag{2.5}$$

Assume that n is an even number, from (2.3), (2.4), and log-convexity of $|f^{(n)}|$ we get

$$\left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \leq \frac{(b-a)^n}{2} \int_0^1 ((1-t)^{\alpha+n-1} + t^{\alpha+n-1}) |f^{(n)}(a)|^t |f^{(n)}(b)|^{1-t} dt$$

$$= \frac{(b-a)^n}{2} |f^{(n)}(b)| \int_0^1 ((1-t)^{\alpha+n-1} + t^{\alpha+n-1}) \lambda^t dt$$

and so

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} (f^{(k)}(a) + (-1)^k f^{(k)}(b)) \right| \\ & \leq \frac{(b-a)^n}{2} |f^{(n)}(b)| \left(\int_0^1 (1-t)^{\alpha+n-1} \lambda^t dt + \int_0^1 t^{\alpha+n-1} \lambda^t dt \right), \end{aligned} \tag{2.6}$$

where λ is defined by (2.2). There are two cases. If $\lambda = 1$, then (2.6) becomes

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} (f^{(k)}(a) + (-1)^k f^{(k)}(b)) \right| \\ & \leq \frac{(b-a)^n}{\alpha+n} |f^{(n)}(b)|. \end{aligned} \tag{2.7}$$

In the case where $\lambda \neq 1$, an application of Lemma 1.3 for $\int_0^1 (1-t)^{\alpha+n-1} \lambda^t dt$ and $\int_0^1 t^{\alpha+n-1} \lambda^t dt$ gives

$$\int_0^1 (1-t)^{\alpha+n-1} \lambda^t dt = \sum_{i=1}^{\infty} \frac{(\ln \lambda)^{i-1}}{(\alpha+n)_i} \tag{2.8}$$

and

$$\int_0^1 t^{\alpha+n-1} \lambda^t dt = \lambda \sum_{i=1}^{\infty} \frac{(-\ln \lambda)^{i-1}}{(\alpha+n)_i}. \tag{2.9}$$

Substituting (2.8) and (2.9) in (2.6), we get

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} (f^{(k)}(a) + (-1)^k f^{(k)}(b)) \right| \\ & \leq \frac{(b-a)^n}{2} |f^{(n)}(b)| \left(\sum_{i=1}^{\infty} \frac{(\ln \lambda)^{i-1}}{(\alpha+n)_i} + \lambda \sum_{i=1}^{\infty} \frac{(-\ln \lambda)^{i-1}}{(\alpha+n)_i} \right). \end{aligned} \tag{2.10}$$

Now, we treat the case where n is an odd number. It follows from (2.3), (2.5), and log-convexity of $|f^{(n)}|$

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} (f^{(k)}(a) + (-1)^k f^{(k)}(b)) \right| \\ & \leq \frac{(b-a)^n}{2} |f^{(n)}(b)| \left(\int_0^{\frac{1}{2}} ((1-t)^{\alpha+n-1} - t^{\alpha+n-1}) \lambda^t dt \right. \\ & \quad \left. + \int_{\frac{1}{2}}^1 (t^{\alpha+n-1} - (1-t)^{\alpha+n-1}) \lambda^t dt \right), \end{aligned} \tag{2.11}$$

where λ is defined by (2.2). For $\lambda = 1$, (2.11) gives

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \\ & \leq \frac{(2^{\alpha+n-1} - 1)(b-a)^n}{(\alpha+n)2^{\alpha+n-1}} |f^{(n)}(b)|. \end{aligned} \tag{2.12}$$

For $\lambda \neq 1$, we have

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \\ & \leq \frac{(b-a)^n |f^{(n)}(b)|}{2} \left(\int_0^{\frac{1}{2}} ((1-t)^{\alpha+n-1} - t^{\alpha+n-1}) \lambda^t dt \right. \\ & \quad \left. + \int_{\frac{1}{2}}^1 (t^{\alpha+n-1} - (1-t)^{\alpha+n-1}) \lambda^t dt \right) \\ & = \frac{(b-a)^n |f^{(n)}(b)|}{2} \left(\sum_{i=1}^{\infty} \frac{(\ln \lambda)^{i-1}}{(\alpha+n)_i} - \frac{\sqrt{\lambda}}{2^{\alpha+n}} \sum_{i=1}^{\infty} \frac{(\frac{1}{2} \ln \lambda)^{i-1}}{(\alpha+n)_i} - \sqrt{\lambda} \sum_{i=1}^{\infty} \frac{(-\ln \sqrt{\lambda})^{i-1}}{(\alpha+n)_i} \right. \\ & \quad \left. + \lambda \sum_{i=1}^{\infty} \frac{(-\ln \lambda)^{i-1}}{(\alpha+n)_i} - \sqrt{\lambda} \sum_{i=1}^{\infty} \frac{(-\ln \sqrt{\lambda})^{i-1}}{(\alpha+n)_i} - \frac{\sqrt{\lambda}}{2^{\alpha+n}} \sum_{i=1}^{\infty} \frac{(\frac{1}{2} \ln \lambda)^{i-1}}{(\alpha+n)_i} \right), \end{aligned} \tag{2.13}$$

where we have used the fact that

$$\begin{aligned} \int_0^{\frac{1}{2}} (1-t)^{\alpha+n-1} \lambda^t dt &= \int_0^1 (1-t)^{\alpha+n-1} \lambda^t dt - \int_{\frac{1}{2}}^1 (1-t)^{\alpha+n-1} \lambda^t dt \\ &= \int_0^1 (1-t)^{\alpha+n-1} \lambda^t dt - \frac{\lambda}{2^{\alpha+n}} \int_0^1 t^{\alpha+n-1} \left(\lambda^{-\frac{1}{2}} \right)^t dt \\ &= \sum_{i=1}^{\infty} \frac{(\ln \lambda)^{i-1}}{(\alpha+n)_i} - \frac{\sqrt{\lambda}}{2^{\alpha+n}} \sum_{i=1}^{\infty} \frac{(\frac{1}{2} \ln \lambda)^{i-1}}{(\alpha+n)_i}, \end{aligned} \tag{2.14}$$

$$\int_0^{\frac{1}{2}} t^{\alpha+n-1} \lambda^t dt = \frac{1}{2^{\alpha+n}} \int_0^1 t^{\alpha+n-1} \sqrt{\lambda}^t dt = \sqrt{\lambda} \sum_{i=1}^{\infty} \frac{(-\ln \sqrt{\lambda})^{i-1}}{(\alpha+n)_i}, \tag{2.15}$$

$$\begin{aligned} \int_{\frac{1}{2}}^1 t^{\alpha+n-1} \lambda^t dt &= \int_0^1 t^{\alpha+n-1} \lambda^t dt - \int_0^{\frac{1}{2}} t^{\alpha+n-1} \lambda^t dt \\ &= \lambda \sum_{i=1}^{\infty} \frac{(-\ln \lambda)^{i-1}}{(\alpha+n)_i} - \sqrt{\lambda} \sum_{i=1}^{\infty} \frac{(-\ln \sqrt{\lambda})^{i-1}}{(\alpha+n)_i}, \end{aligned} \tag{2.16}$$

and

$$\int_{\frac{1}{2}}^1 (1-t)^{\alpha+n-1} \lambda^t dt = \int_0^1 (1-t)^{\alpha+n-1} \lambda^t dt - \int_0^{\frac{1}{2}} (1-t)^{\alpha+n-1} \lambda^t dt$$

$$= \frac{\sqrt{\lambda}}{2^{\alpha+n}} \sum_{i=1}^{\infty} \frac{\left(\frac{1}{2} \ln \lambda\right)^{i-1}}{(\alpha+n)_i}. \tag{2.17}$$

The desired result follows from (2.7), (2.10), (2.12), and (2.13). \square

Theorem 2.2. *let $f : [a, b] \subset \mathbb{R}_0 \rightarrow \mathbb{R}$ be an n -times differentiable function on $[a, b]$ where n is a positive integer such that $f^{(n)} \in L([a, b])$ with $f^{(k)}(b) \neq 0$. If $|f^{(n)}|^q$ is log-convex for some $q > 1$, then the following fractional inequality holds*

$$\left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right|$$

$$\leq \left\{ \begin{array}{ll} \frac{(b-a)^n}{\alpha+n} |f^{(n)}(b)|, & n \text{ is even, } \lambda = 1 \\ \frac{(2^{\alpha+n-1}-1)(b-a)^n}{(\alpha+n)2^{\alpha+n-1}} |f^{(n)}(b)|, & n \text{ is odd, } \lambda = 1 \\ \frac{(b-a)^n |f^{(n)}(b)|}{2^{\frac{1}{q}}(\alpha+n)^{1-\frac{1}{q}}} \left(\sum_{i=1}^{\infty} \frac{(\ln \lambda^q)^{i-1}}{(\alpha+n)_i} + \lambda^q \sum_{i=1}^{\infty} \frac{(-\ln \lambda^q)^{i-1}}{(\alpha+n)_i} \right)^{\frac{1}{q}}, & n \text{ is even, } \lambda \neq 1 \\ \frac{(b-a)^n}{2} |f^{(n)}(b)| \left(\frac{2^{\alpha+n-1}-1}{(\alpha+n)2^{\alpha+n-2}} \right)^{1-\frac{1}{q}} \left(\sum_{i=1}^{\infty} \frac{(\ln \lambda^q)^{i-1}}{(\alpha+n)_i} - \frac{\lambda^{\frac{q}{2}}}{2^{\alpha+n}} \sum_{i=1}^{\infty} \frac{\left(\frac{1}{2} \ln \lambda^q\right)^{i-1}}{(\alpha+n)_i} \right. \\ \left. - \lambda^{\frac{q}{2}} \sum_{i=1}^{\infty} \frac{(-\ln \lambda^{\frac{q}{2}})^{i-1}}{(\alpha+n)_i} + \lambda^q \sum_{i=1}^{\infty} \frac{(-\ln \lambda^q)^{i-1}}{(\alpha+n)_i} - \lambda^{\frac{q}{2}} \sum_{i=1}^{\infty} \frac{(-\ln \lambda^{\frac{q}{2}})^{i-1}}{(\alpha+n)_i} \right. \\ \left. - \frac{\lambda^{\frac{q}{2}}}{2^{\alpha+n}} \sum_{i=1}^{\infty} \frac{\left(\frac{1}{2} \ln \lambda^q\right)^{i-1}}{(\alpha+n)_i} \right)^{\frac{1}{q}}, & n \text{ is odd, } \lambda \neq 1 \end{array} \right. \tag{2.18}$$

where λ is defined as in (2.2).

Proof . Like in Theorem 2.1, assume that n is an even number, using 1.4, modulus, (2.4), power mean inequality, and log-convexity of $|f^{(n)}|^q$, we get

$$\left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right|$$

$$\leq \frac{(b-a)^n}{2} \left(\int_0^1 \left((1-t)^{\alpha+n-1} + t^{\alpha+n-1} \right) dt \right)^{1-\frac{1}{q}}$$

$$\times \left(\int_0^1 \left((1-t)^{\alpha+n-1} + t^{\alpha+n-1} \right) \left| f^{(n)}(at + (1-t)b) \right|^q dt \right)^{\frac{1}{q}}$$

$$= \frac{(b-a)^n |f^{(n)}(b)|}{2^{\frac{1}{q}} (\alpha+n)^{1-\frac{1}{q}}} \left(\int_0^1 \left((1-t)^{\alpha+n-1} + t^{\alpha+n-1} \right) \lambda^{qt} dt \right)^{\frac{1}{q}}, \tag{2.19}$$

where λ is defined as in (2.2). We distinguish two cases:
 if $\lambda = 1$, then (2.19) gives

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \\ & \leq \frac{(b-a)^n |f^{(n)}(b)|^q}{\alpha+n}. \end{aligned} \tag{2.20}$$

In the case where $\lambda \neq 1$, (2.19) becomes

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \\ & \leq \frac{(b-a)^n |f^{(n)}(b)|}{2^{\frac{1}{q}} (\alpha+n)^{1-\frac{1}{q}}} \left(\int_0^1 (1-t)^{\alpha+n-1} \lambda^{qt} dt + \int_0^1 t^{\alpha+n-1} \lambda^{qt} dt \right)^{\frac{1}{q}}. \end{aligned} \tag{2.21}$$

Using (2.8) and (2.9) by replacing λ by λ^q substituting the result in (2.21), we obtain

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \\ & \leq \frac{(b-a)^n |f^{(n)}(b)|}{2^{\frac{1}{q}} (\alpha+n)^{1-\frac{1}{q}}} \left(\sum_{i=1}^{\infty} \frac{(\ln \lambda^q)^{i-1}}{(\alpha+n)_i} + \lambda^q \sum_{i=1}^{\infty} \frac{(-\ln \lambda^q)^{i-1}}{(\alpha+n)_i} \right)^{\frac{1}{q}}. \end{aligned} \tag{2.22}$$

Now, suppose that n is an odd number, using 1.4, modulus, (2.5), power mean inequality, and log-convexity of $|f^{(n)}|^q$, we get

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \\ & \leq \frac{(b-a)^n}{2} \left(\int_0^{\frac{1}{2}} \left((1-t)^{\alpha+n-1} - t^{\alpha+n-1} \right) dt + \int_{\frac{1}{2}}^1 \left(t^{\alpha+n-1} - (1-t)^{\alpha+n-1} \right) dt \right)^{1-\frac{1}{q}} \\ & \quad \times \left(\int_0^{\frac{1}{2}} \left((1-t)^{\alpha+n-1} - t^{\alpha+n-1} \right) |f^{(n)}(at + (1-t)b)|^q dt \right. \\ & \quad \left. + \int_{\frac{1}{2}}^1 \left(t^{\alpha+n-1} - (1-t)^{\alpha+n-1} \right) |f^{(n)}(at + (1-t)b)|^q dt \right)^{\frac{1}{q}} \end{aligned}$$

$$\begin{aligned}
 &= \frac{(b-a)^n}{2} |f^{(n)}(b)| \left(\frac{2^{\alpha+n-1}-1}{(\alpha+n)2^{\alpha+n-2}} \right)^{1-\frac{1}{q}} \left(\int_0^{\frac{1}{2}} ((1-t)^{\alpha+n-1} - t^{\alpha+n-1}) \lambda^{qt} dt \right. \\
 &\quad \left. + \int_{\frac{1}{2}}^1 (t^{\alpha+n-1} - (1-t)^{\alpha+n-1}) \lambda^{qt} dt \right)^{\frac{1}{q}}, \tag{2.23}
 \end{aligned}$$

where λ is defined as in (2.2).

The case where $\lambda = 1$, from (2.23) it yields

$$\begin{aligned}
 &\left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} (f^{(k)}(a) + (-1)^k f^{(k)}(b)) \right| \\
 &\leq \frac{(2^{\alpha+n-1}-1)(b-a)^n}{(\alpha+n)2^{\alpha+n-1}} |f^{(n)}(b)|. \tag{2.24}
 \end{aligned}$$

Now, assume that $\lambda \neq 1$, from (2.23) we have

$$\begin{aligned}
 &\left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} (f^{(k)}(a) + (-1)^k f^{(k)}(b)) \right| \\
 &\leq \frac{(b-a)^n}{2} |f^{(n)}(b)| \left(\frac{2^{\alpha+n-1}-1}{(\alpha+n)2^{\alpha+n-2}} \right)^{1-\frac{1}{q}} \left(\int_0^{\frac{1}{2}} (1-t)^{\alpha+n-1} \lambda^{qt} dt \right. \\
 &\quad \left. - \int_0^{\frac{1}{2}} t^{\alpha+n-1} \lambda^{qt} dt + \int_{\frac{1}{2}}^1 t^{\alpha+n-1} \lambda^{qt} dt - \int_{\frac{1}{2}}^1 (1-t)^{\alpha+n-1} \lambda^{qt} dt \right)^{\frac{1}{q}} \\
 &= \frac{(b-a)^n}{2} |f^{(n)}(b)| \left(\frac{2^{\alpha+n-1}-1}{(\alpha+n)2^{\alpha+n-2}} \right)^{1-\frac{1}{q}} \\
 &\quad \times \left(\sum_{i=1}^{\infty} \frac{(\ln \lambda^q)^{i-1}}{(\alpha+n)_i} - \frac{\lambda^{\frac{q}{2}}}{2^{\alpha+n}} \sum_{i=1}^{\infty} \frac{(\frac{1}{2} \ln \lambda^q)^{i-1}}{(\alpha+n)_i} - \lambda^{\frac{q}{2}} \sum_{i=1}^{\infty} \frac{(-\ln \lambda^{\frac{q}{2}})^{i-1}}{(\alpha+n)_i} \right. \\
 &\quad \left. + \lambda^q \sum_{i=1}^{\infty} \frac{(-\ln \lambda^q)^{i-1}}{(\alpha+n)_i} - \lambda^{\frac{q}{2}} \sum_{i=1}^{\infty} \frac{(-\ln \lambda^{\frac{q}{2}})^{i-1}}{(\alpha+n)_i} - \frac{\lambda^{\frac{q}{2}}}{2^{\alpha+n}} \sum_{i=1}^{\infty} \frac{(\frac{1}{2} \ln \lambda^q)^{i-1}}{(\alpha+n)_i} \right)^{\frac{1}{q}}, \tag{2.25}
 \end{aligned}$$

where we have used (2.14)–(2.17) by replacing λ by λ^q . Thus, the desired result follows from (2.20), (2.22), (2.24), and (2.25). \square

Theorem 2.3. *Assume that all the assumptions of Theorem 2.2 are satisfied, then the following fractional inequality holds*

$$\left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} (f^{(k)}(a) + (-1)^k f^{(k)}(b)) \right|$$

$$\leq \begin{cases} \frac{2^{\frac{1}{p}}(b-a)^n |f^{(n)}(b)|}{(p(\alpha+n-1)+1)^{\frac{1}{p}}}, & n \text{ is even, } \lambda = 1 \\ \frac{(2^{p(\alpha+n-1)}-1)^{\frac{1}{p}}(b-a)^n}{(p(\alpha+n-1)+1)^{\frac{1}{p}} 2^{\alpha+n-\frac{1}{p}}} |f^{(n)}(b)|, & n \text{ is odd, } \lambda = 1 \\ \frac{2^{\frac{1}{p}}(b-a)^n |f^{(n)}(b)|}{(p(\alpha+n-1)+1)^{\frac{1}{p}}} \left(\frac{\lambda^q-1}{q \ln \lambda}\right)^{\frac{1}{q}}, & n \text{ is even, } \lambda \neq 1 \\ -\frac{(2^{p(\alpha+n-1)}-1)^{\frac{1}{p}}(b-a)^n}{(p(\alpha+n-1)+1)^{\frac{1}{p}} 2^{\alpha+n-\frac{1}{p}}} \left(\frac{\lambda^q-1}{q \ln \lambda}\right)^{\frac{1}{q}}, & n \text{ is odd, } \lambda \neq 1 \end{cases} \tag{2.26}$$

where λ is defined as in (2.2) and $\frac{1}{p} + \frac{1}{q} = 1$.

Proof . From 1.4, modulus, Hölder inequality, and log-convexity of $|f^{(n)}|^q$, we get

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} (f^{(k)}(a) + (-1)^k f^{(k)}(b)) \right| \\ & \leq \frac{(b-a)^n}{2} |f^{(n)}(b)| \left(\int_0^1 |(-1)^{n-1} (1-t)^{\alpha+n-1} - t^{\alpha+n-1}|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 \lambda^{qt} dt \right)^{\frac{1}{q}}. \end{aligned} \tag{2.27}$$

Assume that n is an even number, then (2.27) becomes

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} (f^{(k)}(a) + (-1)^k f^{(k)}(b)) \right| \\ & \leq \frac{(b-a)^n}{2} |f^{(n)}(b)| \left(\int_0^1 ((1-t)^{\alpha+n-1} + t^{\alpha+n-1})^p dt \right)^{\frac{1}{p}} \left(\int_0^1 \lambda^{qt} dt \right)^{\frac{1}{q}} \\ & \leq \frac{(b-a)^n}{2} |f^{(n)}(b)| \left(2^p \int_0^1 ((1-t)^{p(\alpha+n-1)} + t^{p(\alpha+n-1)}) dt \right)^{\frac{1}{p}} \left(\int_0^1 \lambda^{qt} dt \right)^{\frac{1}{q}} \\ & = \frac{2^{\frac{1}{p}}(b-a)^n |f^{(n)}(b)|}{(p(\alpha+n-1)+1)^{\frac{1}{p}}} \left(\int_0^1 \lambda^{qt} dt \right)^{\frac{1}{q}}, \end{aligned} \tag{2.28}$$

where we have used the following algebraic inequalities $(v+w)^\beta \leq 2^{\beta-1}(v^\beta + w^\beta)$ for $\beta \geq 1$ and $v, w \geq 0$.

If $\lambda = 1$, (2.28) gives

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} (f^{(k)}(a) + (-1)^k f^{(k)}(b)) \right| \\ & \leq \frac{2^{\frac{1}{p}}(b-a)^n |f^{(n)}(b)|}{(p(\alpha+n-1)+1)^{\frac{1}{p}}}. \end{aligned} \tag{2.29}$$

If $\lambda \neq 1$, (2.28) gives

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \\ &= \frac{2^{\frac{1}{p}} (b-a)^n |f^{(n)}(b)|}{(p(\alpha+n-1)+1)^{\frac{1}{p}}} \left(\frac{\lambda^q - 1}{q \ln \lambda} \right)^{\frac{1}{q}}. \end{aligned} \tag{2.30}$$

In the case where n is an odd number, then (2.27) becomes

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \\ &\leq \frac{(b-a)^n}{2} |f^{(n)}(b)| \left(\int_0^1 \lambda^{qt} dt \right)^{\frac{1}{q}} \\ &\quad \times \left(\int_0^{\frac{1}{2}} ((1-t)^{\alpha+n-1} - t^{\alpha+n-1})^p dt + \int_{\frac{1}{2}}^1 (t^{\alpha+n-1} - (1-t)^{\alpha+n-1})^p dt \right)^{\frac{1}{p}} \\ &= \frac{(b-a)^n}{2} |f^{(n)}(b)| \left(\int_0^1 \lambda^{qt} dt \right)^{\frac{1}{q}} \left(\int_0^{\frac{1}{2}} (1-t)^{p(\alpha+n-1)} dt \right. \\ &\quad \left. - \int_0^{\frac{1}{2}} t^{p(\alpha+n-1)} dt + \int_{\frac{1}{2}}^1 t^{p(\alpha+n-1)} dt - \int_{\frac{1}{2}}^1 (1-t)^{p(\alpha+n-1)} dt \right)^{\frac{1}{p}} \\ &= \frac{(2^{p(\alpha+n-1)} - 1)^{\frac{1}{p}} (b-a)^n}{(p(\alpha+n-1)+1)^{\frac{1}{p}} 2^{\alpha+n-\frac{1}{p}}} |f^{(n)}(b)| \left(\int_0^1 \lambda^{qt} dt \right)^{\frac{1}{q}}, \end{aligned} \tag{2.31}$$

where we have used the following algebraic inequalities $(v-w)^\beta \leq (v^\beta - w^\beta)$ for fixed $\beta \geq 1$ and $0 \leq w < v$.

If $\lambda = 1$, (2.31) gives

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \\ &\leq \frac{(2^{p(\alpha+n-1)} - 1)^{\frac{1}{p}} (b-a)^n}{(p(\alpha+n-1)+1)^{\frac{1}{p}} 2^{\alpha+n-\frac{1}{p}}} |f^{(n)}(b)|. \end{aligned} \tag{2.32}$$

If $\lambda \neq 1$, (2.28) gives

$$\begin{aligned} & \left| \frac{\Gamma(\alpha+n)}{2(b-a)^\alpha} (J_{a^+}^\alpha f(b) - J_{b^-}^\alpha f(a)) - \sum_{k=0}^{n-1} \frac{\Gamma(\alpha+n)(b-a)^k}{2\Gamma(\alpha+k+1)} \left(f^{(k)}(a) + (-1)^k f^{(k)}(b) \right) \right| \\ &\leq \frac{(2^{p(\alpha+n-1)} - 1)^{\frac{1}{p}} (b-a)^n}{(p(\alpha+n-1)+1)^{\frac{1}{p}} 2^{\alpha+n-\frac{1}{p}}} \left(\frac{\lambda^q - 1}{q \ln \lambda} \right)^{\frac{1}{q}}. \end{aligned} \tag{2.33}$$

The desired result follows from (2.29), (2.30), (2.32), and (2.33). \square

References

- [1] M.W. Alomari, M. Darus and U.S. Kirmaci, *Some inequalities of Hermite–Hadamard type for s -convex functions*, Acta Math. Sci. Ser. B Engl. Ed., 31 (2011) 1643–1652.
- [2] M.W. Alomari, M. Darus and U.S. Kirmaci, *Refinements of Hadamard–type inequalities for quasi-convex functions with applications to trapezoidal formula and to special means*, Comput. Math. Appl., 59 (2010) 225–232.
- [3] K. Boukerrioua, T. Chiheb and B. Meftah, *Fractional Hermite–Hadamard type inequalities for functions whose second derivative are (s, r) -convex in the second sense*, Kragujevac J. Math., 40 (2016) 172–191.
- [4] F. Chen, Feixiang and S. Wu, *Several complementary inequalities to inequalities of Hermite–Hadamard type for s -convex functions*, J. Nonlinear Sci. Appl., 9 (2016) 705–716.
- [5] Z. Dahmani, *On Minkowski and Hermite–Hadamard integral inequalities via fractional integration*, Ann. Funct. Anal., 1 (2010) 51–58.
- [6] J. Deng, Jianhua and J. Wang, *Fractional Hermite–Hadamard inequalities for (α, m) -logarithmically convex functions*, J. Inequal. Appl. 2013 (2013): 364, 11 pp.
- [7] M. Iqbal, S. Qaisar and M. Muddassar, *A short note on integral inequality of type Hermite–Hadamard through convexity*, J. Comput. Anal. Appl. 21 (2016) 946–953.
- [8] İ. İşcan, *Hermite–Hadamard–Fejér type inequalities for convex functions via fractional integrals*, Stud. Univ. Babeş–Bolyai Math., 60 (2015) 355–366.
- [9] A.A. Kilbas, H.M. Srivastava and J.J. Trujillo, *Theory and applications of fractional differential equations*, North-Holland Mathematics Studies, 204. Elsevier Science B.V., Amsterdam, 2006.
- [10] M. Kunt and İ. İşcan, *On new inequalities of Hermite–Hadamard–Fejér type for GA- s convex functions via fractional integrals*, Konuralp J. Math., 4 (2016) 130–139.
- [11] M.A. Latif, S.S. Dragomir and E. Momoniat, *On Hermite–Hadamard type integral inequalities for n -times differentiable m - and (α, m) -logarithmically convex functions*, Filomat, 30 (2016) 3101–3114.
- [12] Z. Lin, J. Wang and W. Wei, *Fractional Hermite–Hadamard inequalities through r -convex functions via power means*, Facta Univ. Ser. Math. Inform., 30 (2015) 129–145.
- [13] W. Liu, W. Wen and J. Park, *Hermite–Hadamard type inequalities for MT-convex functions via classical integrals and fractional integrals*, J. Nonlinear Sci. Appl., 9 (2016) 766–777.
- [14] B. Meftah, K. Boukerrioua and T. Chiheb, *New Hadamard’s inequality for (s_1, s_2) -preinvex functions on coordinates*, Kragujevac J. Math., 39 (2015) 231–254.
- [15] B. Meftah, K. Boukerrioua and T. Chiheb, *Hadamard type inequalities for (s, r) -preinvex functions in the first sense*, Electron. J. Math. Anal. Appl., 5 (2017) 170–190.
- [16] D.S. Mitrinović, J.E. Pečarić and A.M. Fink, *Classical and new inequalities in analysis*, Mathematics and its Applications (East European Series), 61. Kluwer Academic Publishers Group, Dordrecht, 1993.
- [17] M.A. Noor, K.I. Noor, M.U. Awan and S. Khan, *Fractional Hermite–Hadamard inequalities for some new classes of Godunova–Levin functions*, Appl. Math. Inf. Sci., 8 (2014) 2865–2872.
- [18] J. Pečarić, F. Proschan and Y.L. Tong, *Convex functions, partial orderings, and statistical applications*, Mathematics in Science and Engineering, 187. Academic Press, Inc., Boston, MA, 1992.
- [19] M.Z. Sarikaya and H. Yildirim, *On Hermite–Hadamard type inequalities for Riemann–Liouville fractional integrals*, Miskolc Math. Notes, 17 (2016) 1049–1059.
- [20] S.-H. Wang and F. Qi, *Hermite–Hadamard Type Inequalities for s -Convex Functions via Riemann–Liouville Fractional Integrals*, Comput. Anal. Appl., 22 (2017) 1124–1334.
- [21] J. Wang, J. Deng and M. Fečkan, *Hermite–Hadamard-type inequalities for r -convex functions based on the use of Riemann–Liouville fractional integrals*, Translation of Ukrain. Mat. Zh. 65 (2013) 175–191, Ukrainian Math. J., 65 (2013) 193–211.